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Handout 

Loan and loan costs 
 

Note: We recommend that you read Loans and loan costs before completing the tasks 
in this handout. 

 

Loan costs and term 
Iman is taking out a loan of EUR 50,000 for renovating her apartment. She gets the 
following loan offers: 

 Loan offer 1 Loan offer 2 

Loan amount EUR 50,000 EUR 50,000 

Term: 15 years 15 years 

Nominal interest rate, 
variable 

5.0% p.a. 4.8% p.a. 

Effective interest rate 5.7% p.a. 5.9% p.a. 

Installment: EUR 396 a month EUR 2,400 once in six months 

 

Task 1: Look through the two offers and tell Iman which of the two is better. Explain your 
recommendation! 

When comparing loans with the same term and similar monthly installments, the effective 
interest rate should be used. In offer 1, the nominal interest rate may be higher, but the effective 
rate is below that of offer 2. This is why the recommendation should be for offer 1, if the other 
terms and conditions are the same. 

Task 2: Iman’s loan officer suggests that she extend her loan’s term to 20 years. Explain what 
extending the loan term would mean for the monthly installments and the entire cost of the loan  

As interest is always charged on the outstanding principal for the remaining term, a longer term 
means higher overall costs.  In other words, while the monthly installment may be lower, a 
longer term entails higher overall interest payments. 
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Loan repayment 
Boris has taken out a EUR 30,000 loan for a home solar electric system. The loan has a fixed 
nominal interest rate of 6.8% p.a., he is paying back the loan in 72 equal monthly 
installments, that is, the loan has a term of 6 years.  Three years later he sells one of his two 
cars for EUR 15,000. 

Task: Which of the following statements are true, which are false? 

1 

 
Boris can use the money he got for the car for paying back the loan in full, because 
halfway through the loan term, exactly half of the loan amount is still outstanding. (f) 

2 

 
Boris can use the money he got for the car for paying back the loan in full, because 
halfway through the loan term, less than half of the loan amount is still outstanding. (f) 

3 
The money Boris got for the car is not enough to pay back the loan in full because 
halfway through the loan term, exactly half of the loan amount is still outstanding, but 
the bank charges additional fees for early repayment. (f) 

4 

 
The money Boris got for the car is not enough to pay back the loan in full, because 
halfway through the loan term, more than half of the loan amount is still outstanding. (t) 
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Loan agreement and interest 
When the general interest rate level was low in 2021, Marion Kern decided to buy the one-
bedroom apartment next to her own apartment. She had EUR 70,000 in own funds and took 
out a EUR 80,000 loan to finance the purchase and the renovation of the smaller apartment. 

This is a part of her loan agreement: 
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Have a good look at the loan agreement and answer the following questions: 

a) What will be the nominal interest rate on June 5, 2027? Is it a variable or fixed interest loan? 

 

Fixed or variable rate? 

 

fixed interest rate variable interest rate 

Interest rate on June 5, 2027 

 
 

2.950% 

 
b) Look up the current EURIBOR that is used as the reference interest rate, on the internet. 

The loan agreement refers to the three-month EURIBOR. Current rate. 

 

c)    The loan agreement mentions two different loan amounts. Explain the reason for 
this. 

The loan amount differs from the actual amount paid out because the bank deducts 
various costs and fees (e.g. for registering a mortgage with the land registry). 

 

 

 

 


